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The picnic

Meg and her mum pack a picnic. 
Mum packs the tin cups into the 
bag. Meg has the lemon muffins.

Meg and Mum sit on the rug. Hop, 
hop. Mack the rabbit sits on Meg’s 
lap.

No, Mack, no! But Mack is too 
quick. He licks the lemon muffin. 

Yum.
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CALCULATIONS (WC = Word Count; E = Errors; SC = Self corrections; Sd=Sound; Bl=Blend; Wd=Word; TW=Tricky Word)
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SELF CORRECTION RATE

E  +  SC

    SC
=  1 :   

NUMBER OF WORDS:

Read automatically =           /52

Decoded =                /52

Word Count: 52
SC  

Errors

Sd Bl Wd TW

The   picnic

Meg   and  her  mum  pack  a  picnic.  Mum  packs  the  tin  cups  into  the  

bag.  Meg  has  the  lemon  muffins.

Meg  and  Mum  sit  on  the  rug.  Hop,  hop.  Mack  the  rabbit  sits  on  

Meg’s  lap.

No,  Mack,  no!  But  Mack  is  too  quick.  He  licks  the  lemon  muffin.  

Yum.

TOTAL


